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No. of Questions : 150

UvHl Sl EEET : 150
Time : 2 Hours Full Marks : 450
g : 2 qud qurlg : 450
Instruction : |
f439r : This paper consists of Objective Type Questions and is divided

(a)

(b)

into Two Sections (I & II) as under :

T F¥-UF qglashed weHl 9¥ onaia © e & @Sl (1& 1), §
frereh R, Star f NS afia ® :

Section - I : Consists of 130 Objective Type Questions.

TS - I: § 130 Fgfeedig a5 2

Section - II : Consists of 20 Objective Type Questions on ()
English Language and (II) Hindi Language.

GUs - I : § 20 sgfassedta gs7 (1) Sish s ofix (1) R=d s
& S 9T YR S |

A candidate is required to attempt as many questions as he/she can
of Section-I, and questions of ANY ONE of the TWO Language papers
(I) English OR (1) Hitidi in Section-II.
Fdt @ o § B @ve-1 qur @ue-I S (1) ik @ (1) R
S P it wel B e w5

Note:(1) Each question carries 3 marks. One mark will be deducted for

each incorrect answer. Zero mark will be awarded for each
unattempted question. '

WW3WW%|WWW%WW%WMI
TAh SRR 98T 7 grqis T By
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(2)

(3)

If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

AT THIH dFpfeqs ITR T&l Iax & fpe S &1, ol Fiebead
ERLE :

Each question is followed by Four alternative answers (1),(2),(3)
and (4). Only one of these answers is correct. Select the correct

answer and record it against the relevant question number by
darkening the circle with Ball point Pen on the Answer Sheet,

as per the guidelines.

TE 99 @ IR JHeud IOk g T B R (1),(2),(3) 7T (4)
TR QA T T ) 3§ dae Th & IR F@l 8 | FE I H
T R T IS SR # IA-U W qeae 99 & 6
PRaTER oftm g () & @@ dgee 3 @@ e B
A |



01.

Q2.

03.
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Section - I
gus -1

The set of beliefs and ideas about the nature of reality, truth and

value is termed as...........
(1) Education (2) Tradition
(3) Philosophy (4) Learning

et W o AW B NG & v f ememel o fEr B
=g Hl FHed ¢ :

(1) farer (2) 9T
(3) =¥+ (4) STfer™
Indian philosphers make use of the concept of ........... to define 'good life' :
(1) Dharma (2) Artha
(3) Kama (4) Purusharth
‘IR Sia’ & ARG & B R 9RdE st . 3
TS99 B IYGIT B § ¢
(1) =+ (2) 9
@3) = (4) g&uTed
The question of reality of universe is studied under.. .
(1) Metaphysics (2) Epistemology
(3) Axiology _ (4) Logic
5
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04.

05.

06.

FEME B FATe AT N B STEIT ooeevnnaennnnnns & it
=Rar STran % :

(1) TEHmEEr (2) STrHEE

(3) HTT HHiAT (4) THIATHA

The real nature of knowledge is studied under which of the following ?
(1) Epistemology (2) Axidogy

(3) Logic | (4) Metaphysics

ST 1 e SR 1 Srer Bret A & feds sfta e st
g7

(1) S P Q) e S

B (a) e

Do's and don'ts related to life are explained under which of the
following 7

(1) Values (2) Logic

(3) Ethics (4) Metaphysics

Gﬂaﬁﬁﬁeﬁaﬁﬁq@aﬁmﬂﬂaaﬁa@rmﬁmﬁwm
F S © 7 .

(1) T (2) TEBITER

(3) e (4) o

What is the ultimate aim of education according to idealism ?

(1) Spiritualism (2) Salvation

(3) Self realization (4) Materialism



07.

08.

09.
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amestare B STgAR R @ o SaRed w1 ® 7

(1) STTeATeeRar (2) i

(3) SATHATIHRT (4) ferrar
What type of being is pupil in idealism ?

(1) Physical (2) Rational
(3) Spiritual (4) Biological
ARt & FEmit e g & ol § 7

(1) it (2) afe®
(3) SR (@) 3w

"Teacher ought to be a study in self elimination." Is the conception
O scvavinns :

(1) Idealism (2) Realism

(3) Pragmatism (4) Naturalism

T 1 g St @ (o1€) @ @ e AR ... G
RO B -

(1) STeefER (2) TR

(3) TR (4) sEpfrE

Who said, "Teacher is the best servant of nation"?

(1) Madan Mohan Malaviya = (2) Rousseau
(3) Vivekanand (4) Dayanand

P.T.0
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10.

11,

12.

WW} ‘:fﬁmﬂgzﬁrv\:{é%m%»?

(1) ¥ 989 Ady (2) =4l

(3) MaTrF=< (4) =
Morning assembly has been emphasized in...........
(1) Idealism (2) Realism
(3) Pragmatism (4) Naturalism
AT ST Dle..nnne. T wewg faar T B
(1) osTesiER (2) TemefarE
(3) wASTHaEE (4) iR

Who is the author of the book 'Democracy and Education’ ?

(1) Abraham Lincon (2) John Dewey
(3) Plato (4) Aristotle
‘étﬁ%zﬂmquham’mgaas%a@mﬁ?%?
(1) ofsIed feie (2) = S

(3) =it - (4) o]

Who is the author of the book 'The Republic' ?

(1) Plato (2) Aristotle

(3) Kilpatric (4) John Dewey
= Rafeaen’ AR JRD 3 AGd BT & 7
(1) < (2) ITEL

@) fis® (4) S S



13.

14.

15.

16.
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JORT DewWey 188 o wmwns :

(1) Idealist (2) Pragmatist
(3) Realist (4) Naturalist
ST 1 T ......... €
(1) oTEstary (2) sETHET
(3) TuTHATE: (4) HpicETa
The term ‘Antyodaya’ is related to which thinker ?
(1} Mahatma Gandhi (2) Ram Manohar Lohia
(3) J.L. Nehru (4) Sri Aurobindo
AT’ Th arearacl fhe faw § qefya 8 7
(1) == el (2) TH HAYEX edr
3) I.ud. [B6 4) AN HUI<E
Which thinker has given the philosophy of 'integral yoga' ?
(1) Sri Aurobindo (2) Baba Ramdeo
(3) Mahatma Gandhi (4) Patanjali
“@Ey AT 2 feg fRiae & Rar ¥ ?
(1) &t sia= (2) rET IWRY
(3) wETHT ATl (4) et
Which one of the folloWing thinkers is & haturalist ?
(1) Sri Aurobindo (2} R.N. Tagore
(3) M.K. Gandhi (4) Vivekanang
9
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17.

18.

19.

Fr=fafe et § & @ wphrard 2

(1) %ﬁ~amﬁﬁa (2) 9R. uq. TR
3) TH.FH. TR (4) fa@smm=
Which one of the following is not a 'Purushartha’ ?

(1) Dharma (2) Kama

(3] Sewa (4) Moksha
(Frferitad 5 b geurel @ o i ¥ 7

(1) uH (2) =

(3) &ar (4) e

Which of the following is a cultural tradition in India ?
(1) Tolerance (2) Religion.

(3) Caste (4) Family

ARA H 398 BI-9l Tiepicaes IR 8 7

(1) Ao (2) e

(3) i . (4) WRER
'Pabbajja’ is the education initiation ceremony related to
education :

(1) Buddhist (2) Vedic

(3] Jain _ (4) Muslim
YT cevvneees e @ Eelfe R ST W T
(1) A= @)

@ i B

10
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21.

22.

23.
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What is the meaning of 'Ilm' ?

(1) Allah (2) © Knowledge

(3) Islam (4) Ignorance
‘T W T FT R 7

(1) or=mE (2) s

(3) TN 4) HASIH

The philosophy of Swami Vivekanand is known AS..eieernnns darshan.
(1) Vedant (2) Navya Vedant
(3) Veda - (4) Jeev

@l R B T @ ... i T o @
(1) = (2) e Aa

(3) A (4) St

Who believes that ' Objects are real’ ?

(1) Idealist (2) Pragmatist

(3) Naturalist (4) Realist

P AT & B ‘GeU g axft & 7

(1) oTrasiar (2) TARTaTEY

(3) wepferardy - (4) TRl

Why was Universal Blementary Education Bill (for all Indian Children )

opposed in Imperial assembly in 1911 by some of the Indians
themselves.

(1) The bill was faulty
(2) It was prepared by British
(3] Vested class interest

(4) India did not need elementary education

11 P.T.0.
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24.

25.

gl AR g==l & e sifad sty R Sw e gdiiaa
Fae H Ry w9 1911 § ©@d §p Araat 3w/ fear 7

1) e o Ffeqer o

(2) TE SIS J TR AT

@) fafe i et

(4) R e QR A ook @ A

Development of the positive social climate of the classroom is the

responsibility of :

(1) Society (2) School administration
(3) Teachers (4) Principals

TR e aTaTEReT & frier i Rl e 7
(1) GHIS _ (2) FaEmeg gma

(3) SAEITIE /3TEATIHT (4) SEEE

According to whom, social systems change due to change in means of

production and relation of production.
(1) Max Weber (2) Karl Marx
(3) Adam Smith (4) E. Durkheim _

S f @ Fpad oIER AR @ d oREdT e
et @ el & oREd A ave & A E 7
(1) B IR @) Pt A

(3) usH T2 (4) ggﬁéﬂ

12



16P/246/2

26. Which of the following statements is not true :

(1) Students come in the classroom with prejudices and

misconceptions against various social groups

(2) Students don't have any prejudices and misconceptions against

various social groups

(3) Quality of inter-personal relationship is important for classroom

climate

{4) Classroom should be a psychological comfort zone for students.

Frfafaa & @ S 97 Fue 9 HU9 98 T8 © 7

(1) Ferd e arie yel & Raars yahe! /fearmonat &
areT R H o ¥

2) ﬁmﬁmﬁﬁwwﬁmﬂﬁ%@miﬁéwm
& W g

(3) ATR-=AlRTE A @ T[ora ShRIHS Ha ArdEGRYl B iU
HEWIYOl 8

=ieq

27. Which of the statement is true regarding Traditional, Modern and
Post-Modern division of society ?

(1) Itis alinear progression

(2) Itis from Western perspective

(3) 1tis a non-linear progression

(4] Itis linear progression from Western perspective

13
P.T.0.
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28.

29.

w UL (RE I G?lT—GlTngi‘EB ¥ fqueE 3
qeg H Hi-ar e q ® 7

(1) ¥& ¥Eg e 2 |

2) @& fawror after gt & fer = @

(3) ge @Sl B R b

14) @ R gRedT § R T |t @ e e ®

Which of the following is not the characieristic of a modern society ?
(1) Separation of religion and state

(2) Hereditary rights

(3) Secularization

(4) Emphasis on rational individual "Self

Frafafaa § & @ eﬁgfvﬁ'aqmﬁ 7 Rigsar w8t & ?
(1) = ofix <o 3 e e

(2) T SUAHR

(3) defeR9erner

(4) cfpe st & I S

Which of the following ideas is not a characteristic of post modernity ?

(1) Possibility of universal, scientific truth
(2) Relative truth

(3) Diversity is celebrated

(4) Criticism of independent, autonomous rational self

14



30.

31.
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=i | |9 @i A e SaR-enyfear @i fasiwar @ 8 7
(1) Tt Ieie g H g9E

(2) G T

(3) Tafeuar =1 Je

(4) @O, @Ew, d aifes ‘@’ 3 fa &S ererE

First generation of human rights were ideologically supported by -

(1) Socialist countries - (2) Capitalist countries
(3) Developing countries (4) United Nations
el Gl & A ARt @ Senfie gwelw Rar e
(1) FEFEEy 29 3 (2) oftard) 3ot A

(3) famrasicr 29t & (@) dga g dy A

Which of the following statements is true ?

(1) Moderate level of physical punishment in school is allwed

(2) There is high tolerance for physical punishment in Indian society
(3) Physical punishment does not harm the child

(4) UNCRC sanctioned the practice of physical punishment

1 5 & S9-ar g g9 & 7

(1) %wﬁsa%anﬁﬁmm%ﬁaﬁaﬁqﬁfg
2) TRE e ¥ AT T T AH Ry
(3) AiRH % Renffd & R gwEamE w9 2

(4) AT ABERY w5 ' IR e

15
P.T.0,
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32.

33.

34,

In Indian social context, which of the following factors does not affect

a child's opportunity to get and successfully complete the elementary
education ? '

(1) Class (2) Caste (3) Gender (4) Age

RA T a<d § T HI-9T Hieh Teh F= i TIRIETeh (3781

-HMQ?fﬁwmmg\cimq;uaﬂﬁ%mwa%qﬂﬁﬁﬂﬁW%?

() = @ (@) R @) g

Who has written the book,'Why I am not A Hindu-A Sudra Critique of
Hindutva Philosophy, Culture and Political Economy "

(1) Ashish Nandy (2) Periyar E.V. Ramasamy

(3) M.N. Srinivas (4) Kancha Ilaiah

‘o T AT T Rg-u gaT Beied 31 fEgel e, Hear
o SRR S qE B e ¥ 7

(1) otefiw A5 (2) War €A, IR

(3) .o difFEE (4) i Ueerdm

As per Government of India statistics, government schools have higher
gender parity index(GPI) in comparison to private school. What does

this mean ?
(1) There are more girls in private schools

There are 1€ss girls in government schools

(2)
(3)
(4)

There are more girls in government schools

Government schools have equal number of boys and girls

16



35.

36.
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gerehich ol el @ g ¥ e} R | 3@ F aad ® 7
(1) i et & samr asiFr 8

(2) T TR A w9 asfeal §

(3) BN TpEr | ol asihar €

(4) W e A wed ok wsfRat @ g avER @

Which of the following statements is correct about Indian education
system ?

(1) Private school have constitutional validity
(2) India has a uniform system of school education
(3) Private schools don't have constitutional validity

(4) Unaided minority schools are under the RTE Act,2009

MR R =aear & d@6g § Fra § § S9-a1 99 99 2 7
(1) Tt =pst B dQufe Juar o 2

(2) WA H @A wge fawm soneh 2

(3) it Tpat @ Haentes Juar T8 we 2

(4) IR-TEI U STTEHCAT Tl R STAHR BT 2009

Provision of Mid-Day Meal in schools is an attempt to ensure :
(1) Equity (2) Equality
(3) Neither equality nor equity (4) Harmony

17
P.T.0,
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37.

el § W Ao doen F § A R gRRe @R @ v ® 7
(1) g -

(2) dHTET

(38) 7 &t gHEar efix AT & geadl

(4) FHE

India has choosen certain groups(SC/ST) to provide protective
discrimination. The criteria for the selection of group was :

(1) Past injustice incurred against the group
(2)  Future goal of equality
(3) Present socio-economic inequality

(4) Present economic inequality

URd | ad S /STeoTfa) &l CEMERE
(1) = wgEl & Raems ordia 7 frm @ o=

(2) wfaem § GEHFGT 9T S Bl A&l

(3) AT EIRT-oTieE STHHT

(4) adu oM EHAT

38. Which of the following feminist thinkers has critiqued Rousseau's

'scheme for girl's education’ ?

(1) Mary Wollstonecraft (2) Simone De Beauvoir

(3) Kate Millet (4) Naomi Wolf

18



39.

40.

41.
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According to census reports 2001 and 2011 female literacy is less
than male literacy. But government of India statistics shows that more
girls than boys are enrolled in government primary schools; it is due
to:

(1) Girls have more literacy rate than boys.
(2) More boys are enrolled in private fee charging schools.
(3) There are more girls in the population.

(4) There are less boys in the population.

SO RAIE 2001 SR 2011 & AFER S AT goU G
| HH B A ARA TIER D RSl B AR AREBR ST e
4 dgH B gAAr § @At @ AT SareT © SEE HROT T -

(1) wsReal i arRar X ds$f 9 SgeT 8

(2) SUIT AEh B AT AR WISAT wpel A amitea ¥
() SrHEr & @sfhat & der e 2

(4) SEE ¥ WS & ge w5 2

During Vedic period the learned of four Vedas was given the degree
of :

(1) Snatak (2) Basu

(3) Rudra . (4) Aditya

aRE H F AR AS B sEr B aw WY K S o

(1) =1dse (2) Y

(3) »= (4) anfey

During Vedic period academic session commenced in :

(1) Karthik Poornima (2) Shravan Poornima

(3) Phalgun Poornima (4) Ashwin Poornima
19
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42.

A @i § Rrem 99 aREq e o

(1) ehifcies gFomT (2) =maor gt

(3) WA gfetm (4) Af¥E= g

Which was the main centre of medical science during Buddhist Period ?
(I) Nalanda (2) Takshila

(3) Vikramshila (4) Vallabhi

g i # it faem & g @ ie-an o

(1) =erar (2) =i

(3) Fepafdmr (4) G

43. Which centre of Muslim education was called Shiraz-e-Hind by

44,

Shahjahan ?

(1) Delhi (2) Agra

(3] Firozabad (4) Jaunpur

sesTel & gRam R & e @ @l FooT-g-fe’ &et T ¢
(1) (2) SIFRT |

(3) HISTETR (4) ST

During Muslim period 'Faazil' degree was awarded to the students of :
(1) Literature (2) Religious studies

(3) Logic & Philosophy (4) Politics

W@mmﬁmaﬁ@ﬁﬁﬁmﬁmﬁ%ﬁaﬁﬁiﬁﬁmﬁ
off ? |

(1) @ifed (2) eHLIRA
(3) adhareR o cEIENIE (4) OIS

20
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47.
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During medieval period Maktabs were :
(1) | Centers of primary education

(2) Centers of secondary education
(3) Institutions of higher education

(4) Pleaces of worship

A9 &I § Hehad A ¢

(1) srefies f&{em & &= (2) HreAfHen fRrem & &=
(3) S=a fareror Heuw (4) ST P D=

What was the national language during Muslim period ?

(1) Sanskrit : (2) Persian

(3) Arabic (4) English

T HT F U 9 =y e ? .

(1) & - (2) uREE

(3) oTE (4) ofTsH

Who said, "A single shelf of a good European library was worth the
whole native literature of India and Arabia" ?

(1) Lord Macaulay (2) Charles Wood

(3) Lord Curzon . (4) Philip Hartog

FER el a-“u OB QAN YRIHRE A O S gue
ARG T R Tty § O D7 7

(1) < Aprar | (2) o g8

(3) 1 FHol (4) Feferg =efr

21
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48,

49,

50.

51.

Which Christian Missionary came in India first ?

(1) British (2) Portugal

(3) French (4) Dutch

AT F BEA-f Sad e F9d I8d A™T o 7

(1) fafesr (2) gt

(3) (4) ==

Sakshar Bharat is the new name of :

(1) National Literacy Mission (2) Sarva Shiksha Abhiyan

(3) Operation Black Board (4) Adult Education Programme

R qRd g Ao &1 J91 9 8 o
(1) T qreRar fAee (2) |g faEm AREE
(3) SITqRe™ & aIs (4) W fare s

Which place is not related to Malviyaji ?

(1) Kalakanker (2) Prayag
(3) Kashi (4) Jhansi

i @ AF-a1 @ geaE o § e T8 € ?

(1) =HITEhihT (2) SETFT

(3) et (4) e

RMSA is focused to which level of education ?

(1) Primary education (2) Elementary education
(3) Secondary education (4) Higher education

22
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war fre W @ famn o3 e @ 7 |
(1) wreafies famem (2) I=a greItHeh [T
(3) HTAHS QTR (4) I=x f3rew

. Establishment of Rural Universities was recommended by :
(1) Mudaliar Commission

(2) Kothari Commission

(3) Radhakrishanan Commission

(4) Sadler Commission

Wﬁr&aﬁmﬁa&wwwwﬁm%mﬁmw?
(1) FEER AT (2) HET SITET
(3) VHIFTR AR (4) VTR AW

. RUSA stands for :

(1) Rashtriya Uttam Shiksha Abhiyan
(2) Rashtriya Ucchtar Shiksha Abhiyan
(3] Rashtriya Ucchtam Shiksha Abhiyan
(4} Rashtriya Utkrishta Shiksha Abhiyan

HHI( RUSA) &1 915 faeame aer S 7
(1) T 39 RBrn ofwm
(2) TKE STHaR faen sime
(3) U S=mew frem s

(4) T Iepee Rem siftme

23
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54.

585.

56.

Academic staff colleges were established by :

(1) University Grants Commission

(2) Ministry of Human Resource Development

(3) National Council of Educational Research and Training

(4) State Council of Educational Research and Training

WWWT&T@H%‘IW:
(1) FsafearE sHaF ™R &)
(2) "G GErEE {gwE @ &1
(@) T Aferp TgEEE T SRR qREE R
(4} TT Aftrep ergEeaTE Td Afdwer aRww 1T

Concept of Pace Setting Schools was given by :

(1) National Education Policy,1986
(2) Kothari Commission
(3) Radhakrishnan Commission

(4) Mudaliar Commission

Tt femea @t staaren & o1 )
(1) == fRrew AR, 1986

(2) e TR

(3) YEGTTY ST

(4) TieER SN

Which commission recommended the formation of Academic Councils
in universities ?

(1) Calcutta University Commission
(2) Kothari Commission |
(3) Radhakrishanan Commission

(4) Sadler Commission

24



16P/246/2

fasateneal & Agaa aRweha e @ geE e o 3 fRar o ?
(1) b Aeafyeed STEET

2) FreTd STET
(3) THTRSTH SRR
(4) |sAX SAEFT

. The goal of teaching is :

(1) To give information

(2) To involve pupils in activities
(3) To impart knowledge

(4) Desirable change in behaviour
fRrerr 1 IR R

(1) I 981 HI

(2) ®sEt Hm BrarEfd @

(3) N W= HIAT

(4) aifeT sArEeie aiads am

- Students are passive in :

(1) Project method (2) Discovery method
(3) Lecture method (4) Inquiry method
B T Q e ¥ fiferg w3 ¥ 2 | |
(1) s fafy (2) @ fafy
(3) &AM fafy (4) 9=t fafy

2s

P.T.O.



16P/246/2

59. According to Kilpatrick, the number of types of projects are :

60.

o1.

freiifes & TgAR Motee fha wehe & 8 € 7
(1) 2 2) 3 (3) 4 @ s

What is the name of the skill by Allen(1969) that is equivalent to the
skill of explaining by Passi(1976) ?

(1) Lecture | (2) Explanatory questions

(3) Explanations (4) Integration

wae (1969) ST See R @t §oarf (1976) & faw M@
e S B TIgE &9 7 | B-ar Hie © |

(1) garger (2) ST "R

(3) & (4) BB

Which Microteaching skill has not been. proposed by Allen(1969) as
well as Passi(1979) :

(1) Teacher silence and non verbal cues

(2) Ilustrating with examples

(3) Pacing the Lesson

(4) Reinforcement

7 @ - farere e gEe (1969) T qreft (1979) A= BT
e el ° el 8 7 - '
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62. The hypothesis underlying team teaching is :
(1) Teachers feel bore while working alone
(2) Teachers are not competent
(3) The best teachers in schools are in contact of more students

(4) The single teacher cannot control the class

e feer &t ga emuren §
(1) T B B F oTeaes ANRAT Hegy I T
(2) oTeaYs waw TE ¥

() e & S=an st s A e sEt ® Wy § o
g ¥ |

(4) ST STeATISH e Wt FrifyT we w7 g B

63. A person.can enjoy teaching as a profession when he :
(1) Has control over students |
(2) Commands respect from students.
(3) Is more qualified than his colleagues

(4) Is very close to higher authorities

27
P.T.0.



16P/246/2

64. Which is not the mode of CAI :

(1) Tutorial mode (2) Drill mode

(3) Simulation mode (4) Question mode
T 0§ 4 H.R.9TE. F HisAreaH G B

(1) TP A (2) I HIS

(3) TUTHEd /RgAeE Aie (4) 989 HIS

65. The objectives of affective domain was classified by :

(1) Benjamin S. Bloom (2) Simpson

(3) Krathwhol (4) Bruner
HATHSG T B SGRLAT B A<l bt par o ?
(1) S, oo (2) Rrag=

(3) hudld (4) X

66. Thomas F. Gilbert is famous for :

(1) Teaching Machines (2) Linear Programming
(3) Mathetic Programming (4) Branched Programming
.U Fead e & e ST S @

(1) o "l (2) @ ;iTmfim

(3) TAfews wEnf (4) SEE ST

67. Right order of objectives of affective domain is : o
(1) Attending, Responding, Valuing, Characterization, Organization
(2) Attending, Responding, Characterization, Valuing, Organization
(3) Attending, Valuing. Responding, Organization, Characterization
(4) Attending, Responding, Valuing, Organization, Characterization

28
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AAIHS U8 & Ia9dl BT TE HY HI-97 & ?

(1) SAETETAfAhAT, STgHeaH, AMRIFHIT, e
(2) ormrEeT, Sfafwar, =R, AL, FTSH
(3) SUBVT, HAFH<HAA, Hidlhan, Gire=, SAMREEHTeT
(4) omrEe, wiifhan, ST, Hied, i

Psychomotor domain was classified by Simpson in :

AT 9& B Ffiheer R 3 Reg ad § feam e ?
(1) 1962 (2) 1972 (3) 1982 (4) 1992

Micro teaching is a :

(1) Teaching method

(2) Teacher training technique
(3) Motivational technique

(4) Teaching strategy for young children

& TR

(1) msﬁmwfﬁﬁ%

(2) oTegs wfdErT RF g
(8) HABERONF Fepeiry 2

(4) 1% I=it H g™ # ghw 2

Computer Assisted Instruction is based Lo} SO __ principle :
(1) Classical Conditioning (2) Operant Conditioning
(3) Pavlovian Conditioning (4)  Unconditioned reflex

29 P.T.O.
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71.

72.

FFey A STy fohd Rissia ux smafa 2 7

(1)
(3)

e ST (2) Afhg ST
RIS UEE RIS U] (4) oTATgEiad et fhar

Which one is NOT the Psychological principle of teaching ?

(1)
2)
(3)
(4)

Proceed from concrete to abstract
Proceed from complex to simple
Proceed from known to unknown

Proceed from simple to difficult

= § § -1 i Rieer @ s R T8 v

(1)
(2)
(3)
(4)

Td & ST @l SR

sifeq @ a3 @ 3K

Hd A SN B TN

A q Hied &l 3K

What is true about science Text Book ?

\1)

(2)

(3)
(4)

There is no difference between textbook and curriculum
Teachers take textbook as curriculum
Teachers do not take textbook as a part of curriculum

Textbook does not help in the selection of instructional activities

ﬁamqﬁq@qgmﬁ%%mﬁﬁ—mww%?

(1)
(2)

Wawmﬁaﬁé%aﬁ%
GTWWﬁﬁWW%

(3) mwwaﬁmwmﬁmﬁ%

(4)

SRSATH AR & TET H ST Mg qerH
TE T | |
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Which is more suitable in teaching of science at school level :
(1) Lecture method

(2) Demonstration method

(3) Story telling method

(4) Project method

feEmerll WX WX e R & e qed sege Ry @
(1) =areEmE fafy

(2) wesia fafy

(3) el HuT fafyy

(4) St /9REsET ARy

The following components define which teaching skill ?
[aj Testing pupil's understanding....
(b) Using Explaining Links.....
(c) Using beginning statements...
(d) Using concluding statements....
(1) Skill of Probing Questions.
(2)  Skill of introducing a topic.
(3) Skill of reinforcement.
(4) Skill of explaining.

ﬁwm%&fﬁmﬂama%wﬁmﬁamﬁ%?
(a) BT & e 7 qheror Her
(b) =TT HEHT B/ AT HLe
(c) SHeh o=t FT govT ey
(d) TrhuicTs Hemt o ggnT s
(1) @Eregef g99 Hrsre
(2) 9IS SEATEAT R
(3) gTe @t
(4) =aT=AT FrIRT

Al P.T.0.
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75. Which of the following correctly illustrates the shift in teaching

76.

behaviour attributed to the increasing use of technology in the
classroom ?

(1) Small group instruction to whole class instruction
(2) Cooperative social structures to competitive social structures
(3) Lecture to instruction -

(4) Multimedia based teaching to single media based teaching.

57§ F PA-GT FI AbAIH B SAfH TART B ARCTHETT [
3 PR ZEeR § o drdl URadHr @ qndr 8 7

(1) @ aqe foreor § dqel e @ (R
(2) TEAE Grfes d<ar | e |t |IE
(3) AT @ TR |
(4) agareAd R § UH W ([T

" A diagram speeaks more than a thousand words" the statement
means that the teacher should :

(1) Use diagrams in teaching

(2) Speak more and more in the clas.s

(3) Use teaching aids in the class

(4) Not speak too much in the class

%%@%ﬁﬁwwﬁmﬁaﬁﬁ%ﬁ@ﬁ%,meﬁw
g fop fareme @l -

(1) wﬁwi@ﬁﬁfﬂmmaﬁq

2) e & it | S S Sl

3) %mﬁwmﬁmmﬁ

(4) %mﬁaﬁiﬁﬂﬁmaﬁq
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79.
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To make learning effective, a goal must be in accordance with......... ?
(1) Objectives of the curriculum

(2) Intellectual ideas

(3) Standards of others

(4) The needs and purposes of students

Waﬁmﬁmaﬂﬁ%ma&ﬁaﬁﬁwﬁﬁﬁsﬁ%w
BT =Ry ? '
(1) UIEEHT & IR B
2) S=a dfss FERl 3
T & W B STER
(4) BB H AETTHA T IR B AR

...................... _is important when a teacher communicates with his /
her pupil :

(1) Sympathy (2) Empathy

(3) Apathy (4) Antipathy

e S o9 it & arr wEwer wat 2 gy oo qewayof
BT © -

(1) werggf (2) TR

(3) SErdIen (4) fagaw

The barrier created in communication due to the duel meaning of
words is a :

[.1) Semantic barrier (2) Psychological barrier
(3) Technological barrier 4) Enﬁronmcm barrier

33
P.T.0,
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80.

81.

frorefl el @ wars § o oAy ©
(1) dag ¥ greref sEdyg

2) Haw ¥ 9SG STy

(3) waw ¥ el erady

(4) wa ¥ gramErfeee sEY

At the primary school stage most of the teachers should be women

because they :

(1) Can teach children better than men
(2) Know basic content better than men
(3) Are avilable on lower salaries

(4) Can deal with children with love and affection

Tt e & YUY Sifiea} Rrees Afeand Sl anfed @i
3 : | |

(1) @=at & g&ul d Jga¥ IgT dail ©

(2) gout & e Fwg gwg @ s @ §

(3) W AGT UT I« B A T

4) geit § IR AR SiE § FEeR Y qEdl ©

A less experienced learner acquires knowledge and skills under the
guidance of an expert is a concept of :
(1) Constructivism (2) Scaffolding

(3) Situated leaning (4) Cognitive apprenticeship

34
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83.
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T FHH Tl friredt wh Fger s & ot s o Alerat @

i wat B, g8 srgyren ®

(1) S§E9ER (2) #HY Sg=T
(3) g AfeEm (4) HSIHTHS S

Evaluation means :

(1) Qual'ntiﬁcation of the phenomins

(2) Qualitativeness of the phenomins
(3) Both Quatification + Qualitativeness

(4) Quantification + Qualitativeness + value judgement
qediehT 1 o7 ¥

(1) 9T *I F&A™S Qa0
(2) ST W IeTHSB g

(3) TETHF + YONEH AT

(4) TEAHD + TIEE + qog ety

A company manufacture his product maximum keeping in mind
which one of the following central tendencies :

(1) Mean (2) Median

(3) Mode (4) Mean+Median

TH HA TN IO H b P e & § feg S
Wﬁﬂﬁ B AN F @ T B -

(1) wegmm (2) Hexiz

(3) g (4) AEHE + Heip

35 P.T.O.
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84. Second Quantile is also called :

85.

86.

87.

(1) Mean (2) Median

(3) Mode (4) Standard deviation

facfra agefes @t ofi it el o @l B
(1) A=A (2) HeHH
(3) =& (4) #T=e e

Standard error of mean is called which one of the following ?

SD Mean

(1) N (2) N
SO Median
qwﬂﬁiﬁmiﬁfﬁfﬁfﬁﬁzﬁ?{—@% ?
0 — @ x
q=s fa=Eed HeH 16
(3) _”TQ_N—_ (4) IN

Range of scores 50-100 is :

qriE 50-100 HT TR 8 &
(1) S50 (2) 51 (3) 50.5 (4)

Negative skewness mean :
(1) Meanis equal to median

(2) Mean is right side to the median
(3) Mean is left side of the median

(4) Mean is equal to mode

36
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89.

90.
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FOTHE a1 a1ef B -

(1) WE Qo7 §edi SXER &

(2) HEHE Ak B A OB 8
(3) HEOHM AP P I a1 &
(4) AEHN SEEH B SIET B

Standard deviation of any three consecutive numbers is -
Reel @9 sar destt & o R ©
(1) .81 (2) .82 (3) .816 (4) 1.00
The equation of NPC is :
T G 6 3 GHiEROT B
_g8 -
= N 0'2 2 = N 2__(':1‘7
(1) Y 20\/5”3 ( ] Y r\/2_:r: e
-x2 —X
N 2.7 __N 20
(3] ¥= G-\[Q—':t € (4) y oJ/2nx F
The difference between Mean and Average depends upon :
(1) Error (2) Median
(3) Mode _ (4) Correlation
HEPTE q1 3 & o) Frsfv apar §
(1) Ffe @@ (2) TemiE 9%
(3) 9§ (4) HEg=ryY
37
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91. The formula of conversion raw scores into T scores is :

SD .
(1) 10 ( X - Median) + 50

10
(2) gp (X - Mode) + 50

SD
(3) 5 (X-Mean)+ 50

0
(4) gp (X—Mean) +50

s ST @ T (&) ST # oRed a1 E

il il

(X - HeHih) + S0
10

(1)

10 ;
——— r— b 50
£ e (X - €gieh) +

@B —— g (X- HEIHTH) + 50
(4) —L—'(X-T{WHSO
A% e '
92. In criterian reference Test the criteria depends upon :
(1) Achievement (2) Intelligence
(3) Creativity (4) Objectives
G aRdR qlerer § Frew Rl o @
(1) Iu«fer aX 2) g W
(3) GoreThRd X (4) SFadl W
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93. The main function of placement Evaluation is :

94,

95.

(1) Admission (2) Promotion

(3) Learning progress (4) To identify difficulties
i eaterT @1 geg &t & ¢

(1) sa=r (2) YR

(3) sifmm =Ry (4) HfSTZAT &1 qaT T

The calculation of correlation depends upon which one of the following

- situations :

(1) One variable and two samples
(2) One samples and two variables
(3) Two variables and two samples
(4) Three variables and two samples

ﬁwﬁﬁﬁsﬂ@ﬁﬁmﬁrﬁﬁaﬂﬁmaﬁmaﬁaﬁ%?
(1) % a3 Uik qur 3 sfvesit

(2) U.Eﬁﬂf?m’rﬁwira'{ﬂfﬁm

(3) & =} TRmi T & gfesit

(4) 9= =X wRmi qer ) ufest

A curve is said to be skewed when :
(1) Mean and median fall at different points

(2) Both Mean 2 and Median fall at same points
(3) Mean = Median

(4) Mean = SD

Th 6 fawT weenar ¥ safy -

(1) HETAMT T AAF R oy orep fmgaif @@ W A &
(2) qumaﬁ@ﬁgwaﬂa
(3) TEIHF = Hegjg

(4) AEEE = o Rees

39
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96.

97.

98.

99.

The height of NPC is :

AT T¥EAT a6 a5 S8 el & ¢

(1) .399 (2) .499 (3)

The value of correlation ranges from :
(1) -.5To +.5 (2)
(3) -1.00 To+ 1.00 (4)

ey & 9K 89 © ¢
(1) -.58 +.5 (2
(3) -1.00 |+ 1.00 (4)

A curve is perfectly normal if :
(1) Mean = Median (2)
(3) Mode = Mean (4)

U @ guie: G wHEAl 8 g

(1) A=A = "D (2
(3) gD = HHAN 4

Square root of .9 is

9T a

(1) .03 2) .3 (3)

40

500 (4) 1.00

- 6To+ .6

.900 To + .900

69+.6
.900 § +.900

Median = Mode
Mean = Median = Mode

nexieh = gD

qw=qm=a@ﬁﬁ

.003 (4) .948
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100. Formula to calculate kurtosis is :

AT ST A B G 2

_ i Ps B
) 6 3(Mean 6Med1an) 2) Ku= 90 : 10 _p
Q P
Ku=-——5 =50
(3) . (Pgo - PIO) ) fu 2

101.Main function of Norm Referenced Test is :
(1} To identify the difficulties of the students
(2) To compare the Students
(3) To know which objectives have been realised by the students
(4) To know the learning progress of the students

S TG GO B e wE B o

(1) ®r=t @ sfearsgt &t sy

(2) BE & JAAT HIAT

(3) %mﬁ%m%ﬁﬁ—ﬁﬁa@sﬁaﬁgﬁmﬁﬁwaﬁ%
(4) ®BEl @ AP s= Ry S @ R

102.A normal curve is also a called :

(1) Lepto Kurtic (2) Platy Kurtic

(3) Meso Kurtic (4)  Lepte kurtic + Ploty kuyrtic

TF AT % X S Feamar L -

(1) Fe HHTH (2) Forfte sgedy

(@) =A FH (4) T T+ T
41
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103. Diagnostic evaluation means :
(1) To remove the difficulties of the students
(2) To identify the difficulties of the students

(3) To identify the errors done by the students at the particular step
several times to solve questions

(4) To place the students

Aeite aderor @ ot ¥

(1) ®BEl @ Hea=at & 3T B

(2) B i HISAZAT BN GAT A

@) BT BRI e T B e Y e R O R SRR e AT
(4) ®©El @ W iR e

104.Educational psychologists may not use Clinical method to study :

(1) The maladjusted children.
(2) The deviant children.
(3) The problem child.

(4) The normal child.

e ARSI FraTEs [l # ST

(1) W@ﬁﬁﬂﬁ%ﬂ%%mﬂﬁﬂm
) crafer @t & e & R T AR
T T B s @ Rrg T BT ERd

(3)
Wﬁ%mm%%ﬁﬁﬁﬂiﬁﬁ

(4)

are distinguished from the other glands by the fact that
into the blood stream-

the ocrine | (2) Endocrine

(1) (4) None of the above

) glaﬂds

105 y secrete directly

42
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ai~e@di @ o1 Tivermi A .... SO STFT fFAr S 9dr 2
mﬁﬁsamﬁmﬁ#}émﬁ?ﬁ%:

CIEISIC]
it

(2) ST
(4) U ¥ § P

106. Psychological tests are useful to assess only :

(1)
(@)

Individual's Personality.
Individual's Perception.

(3)  All psychological variables associated with Individual.

(4)

Individual's Sociability,

TSNS QO ITE S Sea

(1) =T # =faes & A9w & B

(2) AR % gorefieRer 3 79w & R

(3) mﬁﬁﬁﬁ%ﬁ*ﬁﬁ%ﬁﬁ?ﬁaﬁ%w%m
(4) =R B VR & Aow g $ R

107. The blueprint of the experiment is called :

(1)
(3) Experimental group

Treatments

(2) Experimental design
(4) None of the above

TN & =7 B B e omer B

(1)
(3)

108. Who was behaviouristic ?

()
(3)

IT=IT
JANTHE qYE

William James
John B. Watson

43
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B FGERAR! & 7
(1) fafeaw S/ @) ; ¢
(3) S g1, greq+ (4) St R

109. F‘i.rst' Psychological Laboratory was established in the University of
Leipzing, Germany by :
(1) William James (2) William Wordsworth
(3) Wilhelm Wundt (4) Wilhelm Rontgen

gfafidt aifes RrafSi, S & qedh AAIfASE @ JEIeI T
B o - |

(1) fafegw S a2/ (2) faferam ggaaed &

(3) 29 g< & (4) R T g
110. Verbal tests of intelligence are also known as

(1) Performance test (2) Group tests

(3) Projective tests (4) Subjective Tests

o & Mg The &

(1) Foaes qheer & T & S S 2

(2) I8 qferolf & AW Q Al SET St g
- (3) QWQﬂWﬁ%Hmﬁ%ﬂmw%
(4) mﬁ%uﬁwﬁ%w@rﬁww%

111. A problem child has :
(1) Pampering guardians (2) Hereditary problems

@) 1Q problems (4) Physical problems
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Tsh NS 9 B 9rE Sid /8 ©
(1) ¥ 9GR FA I ATHAESH

(2) dATHHE FEEH
(3) Sy # THE
4) riRe T
112. During pre- operational stage a child begins :
(1) To think irrationally (2) To think formally
(3) To think logically (4) To think intuitively
T withars staer § o W g Hr P
(1) syl e (2) oTfruaiRes =
(3) arfrs R | (4) OF<T: Ustass fRra=
113. Who gave four distinctly stages of cognitive development ?
(1) Brunner (2) Vygotsky
(3) Freud (4) Piaget

mﬁwmﬁwmmﬁﬁwﬁm?

(1) SR | (2) AT

(3) WIS (4) Er
114. S-I model was given by :

(1) Thurstone (2) Vernon

(3) Thorndike (4) Gulford

TH AR Afsa Rar &y o

(1) g¥eqT arr (2) T &Ry

(3) uFSIE® IR 4) Pe%g gry

45
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115. Which is not the main function of motive ?

(I) To arouse behaviour (2) To direct behaviour
(3) To remove behaviour (4) To fulfill the need

I B Frd ¥ ?

(1) =HEeR &l Igde T

(2) =gger #r fRem FREEE &
(3) FIEER &l &eT &

(4) STYEAT & QRf HCT

116. A child learns table. His learning will inferred by :
(1) The change in his performance
(2) By shaking his head
(3) By observing directly
(4) By paying attenstion.
U 9o TRIST SEdT S| SH% SIfnm @ e el @
(1) 3a® aAger ¥ aRadd &
(2) S¥% & fBaH ar
3) ugy Frieer s
(4) = & E)T

117.B.F. Skinner suggested that learning occurs through :
(1) Classical Conditioning (2) Operant Conditioning
(3) Modeling (4) Observation

@_@,Wﬁgﬂﬁﬁm.f?ﬁmﬂﬁﬁaﬂ%:
“]Wargamm (2) fhar 9gad e a1
(3) Hreferm &l (4) SCRICa Y
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118. A child receives a chocolate from his father, when he writes every 45
lines. What type of reinforcement schedule is being used ?

(1) Variable Ratio Schedule (2) Fixed Ratio Schedule
(3) Variable Interval Schedule (4) Fixed Interval Schedule

T FEAT 45 AR [REH & 9% U far -7 U dihae 9T Sl
g | pE U &% Jraed g @1 IwEnT fear @ ?

(1) 9REdr FgaR g gal
(2) Tif¥=g swgum gee= g=h
(3) uRadHE F=aw et

(4) e s o=

119. Which psychologist proposed the existence of a ‘hierarchy of needs ?
(1} Carl Rogers (2) Abraham Maslow
(3) B.F. Skinner (4) Karen Horney

L ?qﬁésrrﬁzs% HATFAT & GIHH b ARG - TENId fran

(1) Bt o (2) SwEH A
(3) &.u%.Repex (4) HRA =

120.Which need is found at the base of hierarchy of needs ?
(1) Basic needs such as hunger,thirst and shelter
(2) Security needs such as safety and stability
(3) Social needs such as love and affection
(4) Esteem needs such as self-worth and accomplishments
BI-dl STEaLaHA "STAIEAT TEIPRA’ B AR T 9 ordy & -
(1) AR ST, 3 B e, @ oy |
(2) G SEATHTE S e T wnie
(3) TN EEHad 3 @k vd S
(4) T B STEwEEAd Y @ I oF qrie
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121. Who said that behavi : _
o vior and learning occur through observation and

(:1))) Karl Rcigers : (2) Sigmund Freud
(3) Jean Piaget (4) Albert Bandura

(1) et Tord 2) REms wEE

(3) S =t (4) oTEEE T
122.At which stage does the Oedipus complex occur ?

(1) Oral stage (2) Anal stage

(3) Phallic stage | (4) Genital stage

fEud Hroaed e etae W I B 8 7

(1) STRT €5 W (2) =T €A W

(3) R VS «X (4) SRS BT W

123.1f a child falls in love with parent of other sex is the characteristic
behaviour of :

(1) Anal stage  (2) Phallic stage

(3) Latency stage (4) Genital stage

afx u ares S @ Rada R & s @ gfd ST
¥l % ar as farQsar = _ |

(1) o & B (2) Bfees € @

(3 @ ' @/ (4) Serged B &l

124.When learing of a chapter facilitates the learing of another chapter, it

is known as :
(1) positive transfer
(3) Unilateral transfer - (4

(2) Retrospective transfer
Bilateral transfer
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S/ fREl @ 9ie @ e gER U @ i Sl gare S 8
dr g§ ST AR B
(1) EHRIHEH TR & a9
Srgaslt ®EWRY & AW |
(3) T TN TIACOT & A 9
(4) TEwel wor=Rer & 9m |

125.1In Psychology C-V-C is not related to :

(1) Nonsense Syllables (2) Verbal learning
(3) Trigram (4) Anagram
AAfAET § @-d- & g a4 2

(1) s Rt 9 2) MRgw ™

(3) grzIm (4) avf fagdg

126.A person who is well adjusted may not have :
(1) Emotional maturity
(2) Maturity in thinking
(3) High aspirations

(4) Independent in decision making

Wg‘ﬂmﬁiﬁﬂaﬁﬁ%wﬁéaﬁﬁ%
(1) @iates aRgear

(2) R 7 9Reem

(3) I=A HehIET

() Tot Fia B0 o) ereforen
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127.Which is not true for learning ?

(1) Learning is relatively permanent change in behaviour.
(2) In learning change comes in behaviour through maturation.

(3) In learning change comes in behaviour through practice and
experience.

(4) Learning may be right or wrong.

aftrm & R @ 9 & € 7

(1) sferm =EeR & geeTe B9 @ Rl aRadT

2) e § e # qRads aRugEdr & oI §

(3) SR § Zger § gRad e S} oTged § ST ©
(@) orfrm T8 R T @ §hdl © |

128. Which one is NOT learning ?

[1) To write CI'lgliSh (2) To eat samosa
(3) To drink lassi (4) Toeat

1 fer el 8 7

(1) ofol foT (2) qEYEr @
(3) w=d G (4) @

129. Kohler is associated with : o
(1) Laws of readiness ~ (2) Laws of motivation
(3) Laws of forgetting (4) Laws of pragnanz
FeaR T T B |
1y e & e 8 @) SFERen & Frm @
(SJW%W@I (4) =S @ FEm |
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130. Which one is not given by Thorndike ?

(1) Law of effect | (2) Law of exercise
(3) Law of proximity (4) Law of readiness
- greE® & ERT F W Rar mar &7
(1) 9@ &1 g (2) oT=E & FEE
(3) wHigar @ W (4) 9T H I
S1
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SECTION - II

OR
ENGLISH

Note. Attempt all the 20 questions in this section if you do not opt for

131.

Section-II on Hindi Language Comperhesion.

FC_)UT alternatives are given as possible answer to each question.
Give the correct choice as an answer.

Quesﬁons 131.135 Read the following passage and answer the
questions based on it.

Both plants and animals of many sorts show remarkable changes in
form, structure, growth, habits and even mode of reproduction in
becoming adapted to different climatic environment types of food
supply, or Mode of living. This divergence in response to evolution is
commonly expressed by altering the form and function of some part
or parts of the Organism, the original identity of which is clearly
discernible. For example the creeping foot of the snail is seen in
related marine pteropods to be modified into flapping organ useful
for swimming and is changed into prehensile arms, that bear suctorial
disks in the squids and other Cephalopods. The limbs of modes of
life- for swift running (Cursovial) as in the horse and antelope for
swinging in trees (arboreal) as in the monkeys, for digging (fossorial)
as in (he moles and gophers, for flying (volant) as in the bats, for
swimming (aquatic) as in the seals, whales and dolphins, and for
other adaptations. The structures or organs that show main change
in connection with this adaptive divergence arc commonly identified
readily as homologous in spite of great alterations. Thus, the finger
and wristbones of a bat and whale, for instance, have virtually nothing
in common except that they are definitely equivalent elements of

the mammalian limb.

Which is the most appropriate title for the'passage, based on its

content ? ,
(1) Evolution (2) Adaptive Divergence
(3) Our changing Bodies | (4) Changes in organs
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132.The author provides information that would answer which of the
following questions :

(a) What factors cause change in organism ?
(b) What is the theory of evolution ?

(c) What are the various types of structures or organs showing
functional divergence ?

(1) A only (2) B only ’
(3) A and C only (4) ABandC

133.The author organises the passage by :
(1) Comparison and contrast
(2} General statements followed by examples
(3) Hypothesis and Proof
(4) Definition of key terms

134. Which of the following words could best be substituted to homologous
( underlined) without substantially changing the author's meaning ?

(1) Divergent (2) Corresponding
(3) Altered (4) Tactile

135.The author's style can best be described as :

(I) Objective (2) Humorous

(3) Esoteric (4) Patronising

Questions 136-139 Select the word similar in meaning to the given
words :

136. Appease

(1) Agitate (2) Pacify

(3) Qualify (4) Interrupt
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137. Defile
(1) Pollute
(3) Delay

138. Puissant

(1) Weak
(3) Healthy

139. Relish
(1) Desire

(3) Savour

(2)
(4)

(2)
(4)

- (2)
(4)

Disapprove

Reveal

Articulate

Powerful

Nibble
Avail

Questions 140-142 Select the word opposite in meaning to the given

words .

140. Ignoble
(1) Huge

(3) Known

141. Lax
(1) Salty
(3) Shrill

142. Nebulous
(1) Cold

(3) Porous

(2)
(4)

(2)
(4)

()
(4)
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Strict
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Questions 143-145 From the given option choose the word which
can be substitued for the given group of words :

143. Study of mankind
(1) Pathalogy (2)
(3} Anthropology (4)

144. One who cannot be corrected
(1) Incurable (2)
{3) Hardened (4)

145. Words Inscribed on the tomb :
(1) Eulogy (2)
(3) Epigraph (4)

Philology
Physiology

Incorrigible

Invulnerable

Epitaph

Eloquence

Questions 146-148 Identify the part having an error :

146.
(1) You are already (2)
(3} With these affairs (4)
147.
(1) Sunilisa ' (2)
(3) Inourclass (4)
148,
(1) Indiais E (2)

(3) Film producing country (4)

S5

As well as acquainted

Aslam

Best student
At present

One of the Ieadjng
In the wor]q
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Questions 149-150 choose the right word for each blank :

149.We - our work before the guests arrived at our house :

(1) Shall finish | (2) Had finished
(3) Have finished | (4) Shall have finished

150. A good man and useful citizen..........
(1) Have passed away (2) Passaway
(3) Are passing away (4) Has passed away
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SECTION - II
gUs - 1II
OR
Srerar
fe=t
Frden o o9 @ve- 11 § Ry ofich Wiy ¥ wafud 9wt B o

TE 31 =ed, @ 39 @ve & R 9uEy 4 TR 9 20
g9+ & IaX A

FrtirEd 997 (1), (2),(3), @ (4) HHiw & TR-9R IHREH
S R M E, Bl @ o o & o8 B ot o o9 |
g |

151. 71 7 § P9- Ferh = oY urfe semEt ¥ @ w9 22
(1) Tl WX fogd (2) gRmRaTCH
(3) ¥RE a9 & guyg (4) TSt

152.ams§rq%aﬁﬁﬁfﬁ‘ﬂ?ﬁ—masﬁrﬂﬁ7rﬁlﬁﬂ‘€f%?

(1) <= (2) ITAT=GTY
(3) grxa (4) TgI=E
153. ‘ﬁwﬁzﬁr’ﬁ?awqﬁzgﬁr%?
(1) ¥ (2) sfaly
(3) THEr (4) ey
87
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154, gerdiarE @ waifos e Hia Fa wer s 8 ?
() I GO (2) ST HIA
(3) frcmarett @) e

155. B w3 & SeaRel § Rrgar F1 Rgwr 0T @ @ § S

Hed & ?
(1) 999 @Y _ (2) fBET WY
(3) faga == (4) 9eEq WX

lss.ﬁnﬁfaasrﬁﬂggaﬁwsﬁaﬂﬁﬁaﬁﬁqi
(1) et (2) IS
(3) i (4) Af3Te

157. 99F % B F99 DT ¢

(1) ferax (2) FRT

@) P (4) ferame
158. (gTagor’ mﬂﬁﬂfﬁﬁ?@?\'ﬁﬂ-ﬂf%?

(1) ST (@) S

(@) ST (@) AT
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159. ‘S+3T=waT~ FaH Pr-ell Gy gy ¥ ?
(1) gor €fy () & |
@ @ R o

160. P st & & B ‘Braw’ ar wEE T8 L ?
(1) R (2) =hifeheT
(3) wEf (4) T

161. fﬁ?—raﬁmﬁmaﬁtmﬁﬁaﬁﬁm
(1) 38 (2) BT
(3) =T (4) T AETSAT arr gof

162. % WM Igr S arr-ar 3 O w we e At -

(1) Brdag (2) o=t
(3) Basy (4) Braeg
163. ‘ﬁ%mﬁm%ﬁw%—m%ﬁ@ﬁﬁ?ﬁwﬁam:
(1) S (2) &Y
(3) ®©@rFi (4) el
164. ‘STFRT 1 HWE AW w1sx o #ivm
(1) SreTTa (2) ST
(3) AT (4) orfafy
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165. ‘T& H TE A = 0B ?
(1) gEhr | (2) ST
3) T @ EE A

166. ‘THBT B GE aodd FAMa @i
(1) et (2)
(3) 9= | (4) 9=

167. ‘ga s =t # 3 frg e &1 8 7

(1) @f | (2) HHT
(3) THH (4) Fcsh

168. ‘A -ﬁ Pr-ar saert TgE T 7
(1) 8 @) o S T
(3) A _ (4) ST A A

169.ﬁmfaﬂﬂ“ﬁﬂ%ﬁﬁmmmﬁaﬁﬁﬁﬁ@rwwm

g7
(1) SR | () SRR
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aﬂ

BT
(4) w=m
(3) IS B AT
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ROUGH WORK
T e
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ROUGH WORK
% F1d
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